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2a bk+wh gzikph
;WK L 3 xzN/ fbysh g/goL 50 nze
;hH;hHJhL 25 nze
0t BEZsn din ofagpiiyk e[ZbL 75 nze

gohfynk gZy'A nfXnkgekK, ftfdnkoEhnK, g/go ;?ZNdlgatdyneK bJh ft6/6 fjdkfIsK.

gqoB BzL 1 ;w[Zu/ gkm-eqw d/ nXko s/ ;zy/g T[ZsoK tBog[EBgddr/. jo/e gqéB dk 1$2 nze
dk j't/rk.

nzeK dh tzv j/m fby/ nBJ[;ko j't/rhL
(T) gzikph ;ZfGnkuko dh ikD gSkbRnze(b/ye dh ouBk, ouBk dk b/ye,

0bs$ mhe, pj[-u'D, dkbh EKtK, fJZe d' 6pdK d/ T[Zsoltké gqoB g[ZS/
ikDr/ .

(n) efitSkikIL- 152 nze (eftsk dk eth$ eth dh ouBk)
J) ejkDhnKL1$2 nze(gksoK pko/)
) myKITTEK 1 nze(2 nX{ohnK nykT[sK g{ohnK eoBhnK) 5 nze

ggq6BBzL 2 bk+wh gzikph -12, ;ZfGnkuko Gkr d/ gkmf&rk;K ftZu'A nZm gqoBg[ZS e/ fe;/
gzi dk T[Zso fbyD bJh fejk ikt/rk. 5%3&15 nze

gqbéBBzL 3 eko-ftjiko d/ gZso bJh d' ftd/ d/ e/ fe;/ fIgko/ gZso fbyD bJh fejk ikt/rk.

1 S 040% &7 nze
gqoBBzL 4 ;zy/g-ouBk eoB bJh gkm -g[;se ftZu'A X0k ddZsk ikt/rk. br-gr fJZe

fsjkJh 6pdK ftZu ;zy/g ouBk eoBh j't/rh ns/ f,ob/y th fb yDk j't/rk.

401&5 nze



ggq6BBzL 5 gkm-g[;se ftZu'A e'Jh nZm nykT[sK d/ ezife;tkpK ftZu tosD iK T[jBK
dhnK tos'A ;fEshnK dZ;D bJh fejk ikt/rk. 5%1&5 nze

ggq6BBzL 6 gkm-g[;se ftZu'A fszB eftsktK d/ e/ fe;/ fdke/Adoh Gkt fbyD bJh fejk
ikt/rk. 5 nze

ggq6bBBzL 7 gkm-g[;se ftZu'A d' ejkDhnK d/ e/ fe;/ fJZkadikkgD/ 6pdK ftZu fbyD bJh

fejk ikt/rk. 8 nze
bvh BzL [0 LG0T mzee

la gzikph ;ZfGnkuko dh ikD-gSkD 18

2a gzikph Gkok foyD dk j[BoL- eko-ftjiko d/ gZso,;zydgBk 12

3a ftnkeoB L-nykT[sK 6

da gzikph-;kfjsL-eftsktK ns/ ejkDhnK 14
e[Zb nze 50

ke dik tiioitk

la gzikph ;ZfGnkuko dh ikD-gSkD
(gzikph ;zZfGnkuko, gzikp dk ofjD-;fiD, gzikp d/ b'e feZs/, gzikp dhnK b'e-ebktK,
gzikp d/ o;w- fotki, gzikp d/ w/b/ ns/ fsT[jko, gzikp d/b'e ft Ttk;, gzikp dhnK b'e
yIvK, gzikp d/ b'e-rhs, gzikp d/ b'e-Bku, gzikp dhnK BeK pko/ fBpzX.)

2a eko-ftjo d/ gZso (fBs-gqsh b'VK BY;pzfXs).

3 ;zy/g -ouBk (fdZsh rJh ouBk dk f;ob/y foyDk s/ T[; dK;ob/y d/DK).
4a nykT[sK (nykT[sK dh ftnktynk d/Dh iK tos'A do;kT[Dh
5a eftsktK ns/ ejkDhnK

(ftfdnkoEhnK dh o[uh u fXnkB ftZu oZyd/ j'J/ gzi ejkBkoK dhnK ejkDhnK ns/ gzi
ethnK dhnK  gzdoK eftsktK).

akgf=e
bk+wh gzikphi2 qyzikp ;@b fZiymk pow ZiA geekits
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ENVIRONMENTAL EDUCATION (Annual System 2012-13)

CLASS - Xli
Theory marks : 35
CCE : 15
Total marks : 50

Time: 2hrs

P P

NO

Structure of Question Paper

There will be one theory paper comprising of 16 questions. All guestions
will be compulsory.

Question No. 1-5 are very short answer type questions carrying 1 mark
each. Answer to each question will be in one line or few words only.
Question No. 6-10 are short answer type questions carrying 2 marks each.
Answer to each question will be in 20-30 words.

Question No. 11-15 are short answer type questions carrying 3 marks
each. Answer to each question will be in 40-50 words.

Question No. 16 is long answer type question carrying 5 marks. Answer to
this question will be in 80-100 words.

In Question no: 16, there will be 100 percent internal choice.

There will be no objective type questions such as yes/No, tick/cross, fill up
the blanks, multiple choice, true/false etc.

The question paper should be strictly from the prescribed syllabus based
on above mentioned guide lines.

Unit wise distribution of marks will be as follows.

Unit | Biodiversity 8- Marks

Unit Il Environment Management 6- Marks

Unit Il Sustainable Development 7- Marks

Unit IV Sustainable Agriculture 7- Marks

Unit V Environment Actions 7- Marks
SYLLABUS

Unit -1 Biodiversity

Concept and value of biodiversity

Levels of biodiversity species, eco and genetic.
Balance in nature.

Biodiversity for sustenance of mankind.
Resource limitation.

Ecological role of biodiversity.
Interdependence among different species.
India as a mega diversity nation.

Economic potential of biodiversity.
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5a ezfgT{No ;kfJz;
WK BxzN/ foysh L 30 nze
;ha;haJha L 30 nze
gqg:'rh L 40 nze
e[Zb : 100 nze
nrtkJh bhjK (fbysh gqhfynk)

la gg6BgZso fszB GkrK (Gkr T, Gkr n, Gkr J) ftZu vz j't/rk.

2a Gkr T nkpi?efNt NkfJg j't/rk fi; ftZu 1 s'A 8 sZe 1- 1 nze d/ 8 gqoB;j'Dr/.
3a Gkr n ftZu gqéBBz 9 s'A 13 sZe 2-2 nze d/ 5 gqoB;j'Dr/.

da Gkr J ftZu gq6BBzz 14 s'A 16 sZe 4-4 nze d/ 3 gabBj'D

5a Gkr T ns/ Gkr n d/ ;ko/ ggéBio{oh j'Dr/. Gkr n ns/ J ftZu jo/e gqbéBd/ d'iK d's’
tZX Gkr th j' ;ed/ jB. Gkr J d/ fe;/ th 2 gqb6Bk ftZu nz do{Bh S'N j't/rh.

bvh Bz nfXnkfJ dk BK e[Zzb nze |1 nzeK 2 nzeK 4 nzeK
tkb/ gqdéB | tkb/ gqdéB | tkb/ gqbB

la ;Nfozr cze6B dh tos'A 5 1 - 1

2a :{+o fvckfJzBv czebB+ 3 1 1 -

3a ftzv' w{th w/eo-1 3 1 1 -

da ftzv' w{th w/eo-2 3 1 1 -

5a B?ZNtofezr ;zebg 8 2 1 1

6a bkJhp/qoh cze6B+ 3 1 1 -

7a Jh-rtoB?A,; 5 1 - 1

e[Zbi'Vv 30 8 gqbB 5 gqoéB 3 ggoB
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gkm eqw (fbysh gghfynk)

frnkoQthA ebk; dh d[jokJh

:h Gkok ftZu gq'rokfwzr bJh G{fwek
ewgkfJbo fBod/o
n?o/ :- n?0/ ftZu vkNk GoBk, n?0/ d/ w[ZbK dh gj[zu gkBlnBBb n?o/ dh fveb/no/6B
B?Ntofezr ;zebg
la ;Nfozr cze6B dh tos'A

G{fwek
fveb/o/6B ns/ ;Nfozr t/ohJ/pb
gqg'rokw ;Nfozr dh fgqzfNzr gqdofés eoBh
:Nfozr gVQBKk ns/ foyDk : ;Nfozr gVQBK, ;Nfozr foyDk'BfaNo s'A ;Nfozr gvQBk
;XkoD fIBg[ZN nkT{Ng[ZN
:Nfozr T[go/6B : ;NoeN czebB(strcat () function)
:Noewg czebB(strcmp () function)
;Nobto czedB (strlwr () function)
;Nooht czedB (strrev () function)
:Nongo czedB (strupr () function)
gq'rokw gfoGkéH -

fJe gg'rokw ;Nfozr cze6B+ dh tos'A fpBK d' ;NfBfz eBe/NhB/N (concatenate) eoB bJh
ns/ fJZe BthA ;Nfozr pDKT[D bJh.
g'qrokw gfoGkék2
fJe gqg'rokw ;Nfozr cze6B+ dh tos'A d/ fpBK d' ggf+ dh s[bBk bJh.
gg'qrokw gfoGkoR -
fJe gqg'rokw ;Nfozr dh tos'A fpBK fdZs/ rJ/ N?&{& T[bNKT[D bJh.
2a :{io fvckflzv czeb6B+

G{fwek
fpbN fJzB czedB / bkfJpo/oh czebB :{io vhckJhB cze@@eb6B+ dh +o{os
nkor{w?AN ns/ g?okwhNo
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e'v bkJhB

wbNhcze+B gqg'rokw

czebB dh pDso

foNoB w[Zb ns/ T[|BK d/ NkJhg;, f;zgb foNoB

czebB B{z ekb eoBk

cze0OB Bkb nkor{w?AN, pr?o foNoB w[Zb

:N'o/i 6g/DhnK

:N?fNe t/ohJ/pb

n?e;NoBb t/ohJ/pb

czeOB pr?o nkor{w?AN, foNoB w[Zb Bkb
Saftizn wiffth w/ssail

G{fwek
ckJhb dhnK fe;wK : nkvhU ckJhb, thvhU ckJhb, fgeuockJhb
e'b?ebB+, gq'i?eN ns/ w{th+ B{z ikBDk
;'0; ckJhb
thvhU e?guo vhtkJh;+
nkvhU e?guo vhtkJh;+
e?guo vhtkJh; dh ;{uh : t?p e?wok, n?Bkbkr e?wok iK tha nkoa/C.R) dk n?Bkbkr
e?guo ¢apturg ekov Bkb i'V
fvihNb thvhU e?wok iK tha;ha nko diEEE 1394 g'oN Bkb i'V, wkJheo'c'B dk ;KT[Av
ekov iK :{a n?;a ph g'oN Bkb i'V
ftzv'+ w{th w/eo fJzBNoc/; : whB{z pko ns/ N{b-pko, gi8s6h;:p'ov iK NkJhw bkJhB
g/B+, e'b?ebB g/B, ekBN?AN; g/B, vhN/b+, Ezp B/b, w'BhNo
:N'ohp'ov. ;N'oh p'ov dh tos'A, ;N'oh p‘ov dk fBowkD
ftzv'+ w{thw/eo dh tos"Av{th Nk;e g/B, thvhU e?guo, n?fvN thvhU, fcfB6thvhU
e'b?elB, ;gfbN pNB, ;eohB 6kN pNB, thvhU No?e, nkvhloMe, NkJhNb No?e
J?Avi nkB ftzv'+ w{thw/edhénds on windows movie makerfBT{ gq'i?eN y'bQDk, nkgD/,
ezfgT{No s'A thvhU fJwg'oN eoBk,fgeuo fJzg'oN eoBk
thvhU ;eohB /w'BhNo : efbg B{z d/yDk, fBT{ e'b?e6B pDkT[Dk, nkvhU WithB{z d'
GkrK ftZu tzvDk, ;gfbN ehsh j'Jh nkvhU iK thvhU B{ZVBk, efbg B{z e'b?edB ftZu
ekgh eoBk, fJe thvhU s'A w'BhNo okjhA fgeuo b?Dh

4a ftzv'w{fthwyémn-2

G{fwek
NkJhw-bkJhB ftT{
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:N'oh p'ov ftZu thvhU efbZg i'VBk
:N'oh p'ov ftZu d[pkok s'A soshp tko eoBk, NkJhw bkikhéq:'r eod/ j'J/ efbg;
s'VBK, fJe thvhU B{z s'VBk

efbg; dh Nohfwzr : efbg; dh SNkJh eoBk, fJe efbog dh Nfow iK SKNh eoBk, Nfow
g[nkfJzN B{z ;k@ eoBk, N[ZN/|'J/ thvhU efbg; B{ztAkg\fBk, w{th B{z n?fvN eoBK,

thvhU NoKfi6B, thvhU fJc?eN;, NkJhNb ns/ eo?fvN;, thuth NoKfioB B{z bkr{ eoBK,
thfvU fJBc?eN; i'VBk, NkJhNb s/ eo?fvN, ggh-ftT{ w{th NkJmkvhU n?v eoBKk,
nkvhU B{z fgeuo Bkb nbkJhB eoBk, nkvhU efbg dk NkJbikdhB ftT{, n?vfNzr nkvhU,
thvhU dk nkvhU xZN iK tZX eoBk .

5a B?Ntofezr ;zebg

G{fwek

B?ZNtoeo eh j[zdk j?I B?ZNtofezr bJh b'V, B?ZNtofeRinNlowh

B?ZNtoe dhnK fe;wK

B?ZNtoe N'g'b'ih L N'g'b'ih eh j[zdh j?, G"fse N'g'b'ih dlie)vie[DhBhno pZ; N'g'b'ih,
:Nko -N'g'b'ih, Ngh- N'g'b'ih, w?6- N'g'b'ih, gkodb w?6- N'g'b’i

gg'N'e'b+ L :{Bhckow fo;'0; b'e/No (:{ankoan?b) ckJhb Ng&Ne'b ns/ jkJhgoN?e;N
NoK;co gg'N'e'b (ckJhb NoK;co gg'N'e'b, jkJhgoN?e;d §qkte'b), ggkJht/N B?ZNtoe;

u?Bb dh ftukoXkok L ;zuko u?Bb eh j[zdk j?, vkNk palbh d
;zuko wkfXnw L rkJhfvv whvhnk, nBrkJhfvv whvhnk, o&n?c gq;ko
B?Ntofezr fvtkfJ; L jZp ns/ w'vw

6a bkJhpg/oh cze6B+

cze0B

:Nob/B czedB ( Strlen () )
:No/gh czedB( Strcpy() )
:NohN czebB(Strcat() )
:No?wg czebBStrcmp() )
r?Nuo czebRgetchar() )
g[Nuo czeOR putchar() )
fgqzNn?c czedPBrintf() )
;e?Bn?c czebB Scanf() )
e'; czedB (Cos())
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n?e;g czedB ( Exp())
g't czebB (Pow())
;eoN czebB ( Sqgrt() )
n?cw'v ¢ czedB(fmod() )
c/p; czebB (Fabs() )
:hb czebB ( Ceil () )
cb'o czedB ( floor() )
fJ+b'no ns/ fJ+ngo cze6B (islower() and isupper() )
N{b'no ns/ N{ngo czedH tolower() ) and ( toupper () )
cze6B d/ bkG
7a JhntnB2A; (e-Governance)

Jh-rtoB?A; dk gqg:'rL
xZN you, s/i ogsko, fes/ th fe;/ th Nkfiw, nk;kB ggpzX
Jh-rtoB?A; d/ nZbr-nZbr y/soLfJzNoB?ZN p?Afezr,nkB-lkbiyBis/ jtkIh fNefNzr,
nkJh- fNefNzr, Jh-fNefNzr, gk;g'oN ;/tktK
;[ftXk ;?ANoO
ezfgT{No ;kfJz; (gq:'rh)
nrtkJh bhjK (gq:'rh gurtifyrk)
;WK L 3 xzN/ nzeldO

gghfynk bJh nze tzv j/m fby/ nB[;ko j't/rh L

:?e06B - J/ tkfJtk - t"; 5
;?7e0B - ph gq'rokw foekov ckflb 5

;7€0B - ;h S'N/ gg'rokw 10
;?7e0B — vh tZv/ gq'rokw 20

la ;?e6B J/ ftZu gghfynkoEh s'A gkm eqw ftZu'A d8/gkbBgjd gqoBflZe fJZe nze dk
j't/rk. £Jj gqbB npi?efNt NkJhg iK ftnkfynk dZ;Dh iK e zfgT{No d/ tZy tZy fjZf;nK ns/ 1J;
Bkb i[V/ ;jkfJeK d/ pj[s S'N/ nfGnk; |'Dr/. 1%5&5nze

2a ;?7e06B ph ftZu gghfynkoEh dk ;bkBk gq'rokw foekidh cike ehsk ikt/rk. 5 nze
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3a ;7e0B ;h ftZzu fszB gqoB$gqrokw ;?ZN ehs/ ikDr/ fi@QW gghfynkoEh Bz{ d'
gqg'rokw$gqéBeoB dh yZ[b j't/rh. jo gqg'rokw$gqbBgzi-gzi rdleK|'t/rk, jole
gq'rokw$gqéBbJh nzdo{Bh nze tzv g/go ;?ZNo eoe/ d/t/rk. 2 % 5& 10 nze

da ;7e6B vh ftZzu fszB gqoB$gqrokw ;?ZN ehs/ ikDr/ fiB@QK gghfynkoEh Bz{ d'
gg'rokw$gqéBeoB dh yZ[bQ jt/rh. jo gq'rokw$ggqdBd;-d; nzeKj't/dk, jole
gq'rokw$gqéBbJh nzdo{Bh nze tzv g/go ;?ZNo eoe/ d/t/rk. 2% 10&20 nze

gkm eqgw (gq:'rh gghfynk)

1a; Nfbear czasGHB dh toss A

:Nfozr cze6B L v/eb/o/6B, fJfBf6:bkJh+/6B
gqg'rokw ;Nfozr dh fgqzfNzr gqdofés eoBh
:Nfozr gvVQBk ns/ foyDk
;kXkoD fJzBg[N $ nkT{Ng[ZN r?Nuo, g[ZNuo, (fyqzetebar(), putchar(), printf() )
:Nfozr n'go/6B 6tring.hH
2a:{fo fixakd iy czGmB+

fpbN-fJzB czedB+$bkJhpg/oh cze6B+
nkor{w?AN; ns/ g?okwhNoi
e'v bkJhB
wbNhczebB
cze6B dh pDso
- cze0OB B{z ekb eoBk
Saftizn wiffth w/adl

nkvhU-thvhU ckJhb
gq'i?eN, w{th, e?gufozr, ;gfbzfNzr
4a ftzv' with w/e-

NkJhw bkJhB ftT{
gq'i?eN B{z ubkT{Dk
Nghfwzr

n?fviNzr

thfvU NoKfi6B

thfvU fJc?eN

thfvU NkJhNb
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thfvU eo?fNv
thfvU gghftU{
SabikdHmuy oh czesiB+

czebB

:Nob/B czedB ( Strlen () )

:No/gh czedB( Strcpy() )

:NohN czedB(Strcat() )

;No?wg czebBStrcmp() )

r?Nuo czebBRgetchar() )

g[Nuo czeOR putchar() )

fggzNn?c cze@Brintf() )

;e?Bn?c czedbB( Scanf() )

e'; czedB (Cos())

n?e;g czedB ( Exp())

g't czebB ( Pow())

;eoN czebB ( Sqgrt() )

n?cw'v ¢ czedB(fmod() )

c/p; czedB (Fabs())

:hb czebB ( Ceil () )

cb'o czedB ( floor() )

fJ+b'no ns/ fJ+ngo cze6B (islower() and isupper() )
N{b'no ns/ N{ngo czedH tolower() ) and ( toupper () )
czeo6B d/ bkG
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PART-A

Concept, notation, order, equality, types of nmas, zero matrix, transpose of a matrix,
symmetric and skew symmetric matrices. Additionpt&action, multiplication and scalar
multiplication of matrices, simple properties ofldé#ion, multiplication and scalar
multiplication Determinant of a square matrix foBx3matrices), Minors, cofactors.

Adjoint and inverse of a square matrix (upto 2Xatrix), solving system of linear equations in
two variables(having unique solution)

Differentiability, derivative of composite functisnchain rule, derivative of trigonometric
functions, derivative of implicit function. Deatives of log‘ and é.

Integration as inverse process of differentiatiotegration of a variety of
functions by only substitution, only simpléggrals of the type:
dx dx dx

x*+a® x2+a? Ja?- x?

vJa? + x%dx Vx? - a%dx

4 Differential Equations:

Definition, order and degree, general and pdercsolutions of a differential equation,
Solution of differential equations by methodseparation of variables

PART-B

[. INTRODUCION TO DATA PROCESSING
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Introduction to DBMS and RDBMS : Limitation of tHige processing system. Advantages and
Disadvantages of DBMS, Introduction to Data Modelsssical Data Models, Object based Data
Model.

(i) ERD (Entity Relationship diagram) (ii) Normadigon (1NF, 2NF, 3NF) Record Based Data
Models. Relational HDB (Hierarchical Database MydRIDB (Network Database Model), E.F.
Codd's Rules, Different types of Key attributes.

. SYSTEM ANALYSIS AND DESIGN

Introduction, Need for system analysis and destgeps and techniques of system analysis, Role
of system analyst; System development life cycltaDlow diagram, Documentation.

[ll. FINANCIAL ACCOUNTING PACKAGE

Introduction to accounting, Objectives, Use of TALlpackage and its operations. Security
measures, Company creation, Accounting heads, \Guetitry; Balance Sheet; Display, Trial
Balance.
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